JI[EEHT D EF X

1 AOp®kxr

AOES2YREES

FAFN604E(198

54)

BT %

oo

10 8 6 4 2

2 4 6

SHITE0194)

85AELLE [
80 ~ 84 h

AOBEEHTEI08 1 BIRE) B A
it E1E =
AO%% 15,076 7819 7,257
65 EAD 2,844 1,248 1,596
" 18.9 16.0 22.0
(RSRLLE %) 294l 2621  [323]
5 23R 6,590 [744,644]
— Ak 2.29 [2.39]
[ INZ=88
AOBEGHTEEER HBA:A
&t S it
HAE# 127 64 63
ETH 110 63 47
HAEEADFR) 8.42 [6.57]
FET-E (A O F ) 7.30 [11.69]
[ INZ=88
SRR AODHETR 0PN
FERATE | FR22FE [ FER2IE|SHTE
(20054F) | (20104F) | (20154F) | (2019%F)
0~14%% 2,222 2,312 2,364 2,197
15~ 6475 8,639 9,035 9575 9,957 Ho~14i  B15~64i  OesamilE
657 LA E 2,169 2,487 2,735 2,844
2 ECDKE
FEERBETRE AD1075 %t 40 ~BARICHTHEFEERELE

SEE BiE L AO105 5%

y 1851 743 =t L ZHE
BIEHEY) [uég.;] [Zg.g] ] i 167.1 220.5 105.4
o = : - =5E 164.4 207.8 121.2
cnse [

w f . BT S D S
RXEEMW [g:g] [11'3] B EEH i - -
= - - g EZL N
U [;'g] [2'14] S 171 g 311§ 223
A . . AO105 %t R . .
"R 551 24 =B [ T478| 7056 172
. . AO105 %t 16.4 241 9.2
B E [1.7] [1.5] A ]
[T SR D B 5T

goooooo
[ 100000

goooooOoOopoecOOOOOOOOO



FRHARETER(EASEROTY) (Bi) B)IfEr D=F8 (Z&tE)

0 N m_l

D R &

fibi i & 9 2B

200 150 100 50 0 0 20 40 60 80 10C

i B

-

|

14 12 10 8 6 4 2 0 0 1 2 3 4 5
FRHRARECEOFRER
250.0 Bt “ifisoo
2000 e B
3]
150.0 000
-o-A--- NVRE
100.0
— 50.0 |
| - XIS
50.0 g
0.0 0.0
H27 H28 H29 H30 RO1
20.0 20.0
’5‘ —— %EE
15.0 # 15.0
K N\ e i3
10.0 \ Z 10.0
/W . — o R
o | / ok \ P’ 5.0
>0 ’ N \ . — X — BmE
’ .\ .
oo g o %L G, 00

SMR(Z#1L3ET-LE)
Bt BN EY

| JITREHT I

ffiASA fhihtA
#ADataBox AO-HHEDEIE | (RERFE10A1BIRE)
EEFBEI AOERAERFT—4]
WFEATEREAASKRICEDCAO, AOFERUHTERIGIRE1A1H)

. SMRICEALEAORUVRTCHITHZELSTSFEROEE
A= # ZDataBoxI AO-HFEDEIZTIOAD
BHEEMEREARBRICE DA D, ADBERUHERIOHEH

2




